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height=float (input ("iF$ A& °J‘—'"> )
weight = float (input( ﬁ"‘ A% 7‘)“& "))
bmi= v.'eight/ (height * hezght)~ T HWBMIE 3T
print ("EHIBMIIESCH: " + str(bmi)) 256 HBMITEST
# *‘J&F?ﬂgzb‘iﬁ , o v

bmi < 18.5:print("EEHE e e ™)

£ bmi >= 18.5 ».:;‘:_bm < 24.9:
print("ERTEH, FEEH -7 sy
if bmi >= 24.9 and bmi < 29.9:print (" EITE e e
f bmi >= 29.9 :

print ("AERE @ @°7)

")
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author: 18
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s MASEHNEE
height = float (input ("M A\ E8
weight = float (input ("i¥E A ZaY
bmi = weight/ (hexght * helsht)
print( ZRIBMI# 191/)
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f bmi < 18.5:
print ("FHE {1 e™")

£ bmi >= 18.5 and bm < 24.9:
print (" EWEH,

i bmi >= 24.9 and bmi < 29.9:
print("IFHEHE e e™")

£ bmi >= 20.9 :

print ("EERE e @)

‘}Lr
14

" + str(bmi)) o 56&8\113 “I

fﬂ(?‘r (=

mm: )
9:)

_*‘vv

SBMIESY

.’\-)

"ﬂ*’t"'" RIR—ER "HiE" 8, BEiR(REHBR(RAYcodeirBEHTAIbug

X 5t

" AARRNE—PAEEFIFEINANE, MHARIRREEIZE FRIFTEIRE.



(02 GaiH S3%9T



KB %E - 4a# O Datawhale

MREFHRERAT, ERITHEHESHRERFXITT.

REAIMIAN TS (KESFT 1 Tabi) , UXDFHEASE, FTHMAS.
SHE—IREATRMLA LXMgEH, TabE—RRRATF RIFITSTZEIN—E1E,
ZITEDME, FE—TEIMYER, LIXDHEMBRE
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# Arguments on first line forbidden when not using vertical alignment.
foo = long function _name(var _one, var_two,

var_three, var_four)

1
2
3
4
5 # Further indentation required as indentation is not distinguishable.
& def long function_name(

7 var_one, var_two, var_three,

8 var_four):

9

print(var_one)

11 # Add some extra indentation on the conditional continuation line.
12 if (this_is one thing and

13 that_is another thing):

14 do_something()
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# Aligned with opening delimiter.
foo = long function _name(var _one, var_two,

var_three, var_four)

1
2
3
4
5 # Add 4 spaces (an extra level of indentation) to distinguish arguments from the rest.
& def long function_name(

7 var_one, var_two, var_three,

8 var_four):

9

print(var_one)

11 # Add some extra indentation on the conditional continuation Lline.
12 if (this_is _one_thing

13 and that _is another_thing):

14 do_something()
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BErB1TIREI AR 79 1NFFF.

—RRIEGES AR ELL, (BEwWthiBASEARASE, SEFERARBT \ FEE,
B— X FRassertiEal.,
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No

'_'-

with open('/path/to/some/file/you/want/to/read') as file 1,open('/path/to/some/file/being/written’

Yes

'_'-

with open('/path/to/some/file/you/want/to/read’') as file 1, \
2 cpen('/path/to/some/file/being/written’', 'w') as file_ 2:
file 2.write(file 1.read())

Lt
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# Wrong:
if foo == 'blah': do_blah_thing()
do _one(); do_two(); do_three()

# Correct:

if foo == 'blah’:
do_blah_thing()

do_one()

do_two()

do_three()
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1 # operators sit far away from their operands
2 income = (gross_wages +

3 taxable_interest +

a4 (dividends - qualified dividends) -
5 ira_deduction -

6

student _loan_interest)

# easy to match operators with operands
income = (gross_wages

+ taxable _interest

+ (dividends - qualified dividends)

- ira_deduction

(s N B . T

student_loan_interest)
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o ERIRFHAIIEBXFE— " MFER: Em2.pySE A HS:
1 Tree 1 def printSelf():
2 |____ ml.py 2 print('In m2")
3| m2.py
4 | Branch
5 |____m3.py Em3.pyEAH5:
6 | md.py

1 def printSelf():
2 print('In m3")
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> import FHER/E
1. SRNFESAAHE CHEFN— RN, F2ETimportREA.
2. MNRFEANIFEEMLpyXHEHFESANBER THIM2.py34, EIESNRIE,
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import Python EERYIEIR/E
PythonlVEEET F FERVRRIE, THRECE LI, IFE—RimportRia]
=H.

{£F from x import y EPxSERIER, YEiREBISRHIRRZFR,



ENE O Datawhale

o ERIRFHAIIEBXFE— " MFER: Em2.pySE A HS:
1 Tree 1 def printSelf():
2 |____ ml.py 2 print('In m2")
3| m2.py
4 | Branch
5 |____m3.py Em3.pyEAH5:
6 | md.py

1 def printSelf():
2 print('In m3")
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> import 2 HRR/E

1 import os

2 import m2

3 m2.printSelf()

4 >>> In m2 # BIHAZE

> import Python EERIIRIR/E

# wrong

import os
import m3
m3.printSelf()

o o I
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> import Python ERIIEER/E

o o I

Fa o pa

# wrong

import os
import m3
m3.printSelf()

# forrecﬂ
from Branch import m3
m3.printSelf()

g B A A s
»»> In m3 & .‘F,-_?;-',-i".'g;.-_.'-ﬁ_.'-:&h
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Tree
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|____ m2.py

| Branch
|____m3.py
|____ma_py
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SERIEMET\ AaLT( FEAINE

i=di+1 i=i+l i=d+1
submitted += 1 submitted +=1 submitted += 1

X =x%2 -1 X =x%2-1 X = X¥2 - 1

hypot2 = X * X + y ¥ y hypot2 = x*x + y * y hypot2 = x*x + y*y

c=(Ca+b)*(Ca-b) c=(a+b) " (@-b) c = (a+b) * (a-b)
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1L ERAERES. DRSHARESEN, FEESRTR,

285, DSHESLZE, RHEESZEIHIAFEESRETR,
3EYIA, WANE SR AERAYELE;

4 ZEEFRBAERNSHGIRNACRSZH, FEESRTE,
5.HE (BEf) EENERFESNTBUERESS—MNEERITT,
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IRRmEIEF, BEFRAL—ME
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SR CABRY AT,
-EELIEZENABT, REFERERE
BVE20%LA L,

O Datawhale

HITiEHE

import os

epochs = 28

ZATiEHE

[T < B e W IR - U SR O Qe

This is the first line of comment.
The specific annotation content is to be determined.

This is the first line of comment.

The specific annotation content is to be determined.
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TEZHREERFTE. HFN ™%k, TEBILUFEE
TRIZATk, BARELAEEFFIk, i, ST EREN
message 1, {EABEIEEDE A1 _message,
“TEZIEEETRE, (BaERATZ%KoREFRIRIE,
N, ZTmEZgreeting_message 1T, {BEEZgreeting

message=5 | KB,

1
2
3

O Datawhale

1 second = "1 sec”
send message = "You are right.”

one second = "1 sec”
send _message = "You are right.
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R &an
AERPythonXBFIIRMEAIFLESE, RS

{EFPythonfREE R T4S7ARIERIERIE), Mprint, 1
w e — i 2 def A():
LERSHHBNEEEE N EG AT, Flul, 3 pass
4
nametbnd¥, student nametbs niF, 5 dof Fibonaccia, b):
6 return a + b
(XESFEER
1 2 3 !
2 def calculator(num_1, num_ 2, operator):
print = 10 int = "1024" 1=1:0=0 3 if operator == "+":
print print(int(int)) 4 return numl + num_2
5 elif operator == "-":
6 return num_1 - num_2
7 else:
8 print("Operator unrecognized.")
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